TR M (XFEX)

(1) OXEXR-ZHWARWTERLAR IV, (55 X6)

DO xX5Xy= @ xXyx(—3)=
® xXy+3= @ xXxXy=
® (a+2b) X5= ® (2¢a—b)+3=

(2) ROFEEELZRTLE-< VRS, (55 X4)
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(3) ROFHEEZ LR SV, (54 X3)

O 2x+5x=

® 3a+5+2a—1=

(4) ROFHEEZ LR SV, (5 4X3)

® 3r—6x=

O (2a+3)+ (3a—6) =

® (Gx+7)—(Bx—8) =

® (@Qy+1)—(5—3y =

(5) WOFHHREEZ LR S, (5 5/ X2)

D 3ax(—2)=

(6) WOFHEEZ LRIV, (54X2)

©® (—4x) X (—%)

O 3@+2)+2@—3)=

@ 2(x+1)—3@2x—5)=




TR M (XFEX)

(1) ROXEXR-EZHWRNTERLARI W, (5K X6)
D xX5xy= oxY @ axXyx(—3)= —3xy
® xXy+3= :c:;_y @ rXxxXy= X’y
® (a+2b) X5= 5(a+2b) ® (2a—b)+3= 2a3—b
(2) WoFELZRTNEHO VIV, (51 X4)
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(3) WoFHHEEZ LS, (5/8X3)

O 2x+bx= Tx ® 3xr—6x= — 3

@ 3a+5+2a—1= Sa+4
(4) WoOFHEEZ LSV, (5/8X3)

O (2a+3)+ (3a—6) = 5a—3

@ (Gx+7) — (3x—8) = 2x+15

® (y+1)—(5-3y = Sy—4
(5) WOFHHEEZ Lz, (548X2)

O 3ax(=2)= —6a ) (—4x)><(—%): 2x
(6) WOFHEZ LIV, (58X2)

O 3@t2) +2(@—3)= 5a

@ 2(x+1)—302x—5)= —4x+17




